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WEMEA: EmEREE, REURAER . A p4 . sk, Bk, gAMbk, X—
BB HCARAN B BE AL ()% 75, 737 engineer, photograph, magazine 2% #iia] (5 LA K H
HERET

SEESR:

1. 18th July

2.Q1632
3. Way

4. Engineer

5. Photographs
6. Magazine

7. Blues

8. fith7e

9. Fish

10. Parking

- [ Loy |
WEREE : — AL A TR 5 T8 — RAIREE R F 0. 7 nlfe 2] 7 TAIE
Lt T AFEN, SREFEMA AN, AT R TR RMUT 4. MERRR, g
VE R T AL A SR T e, W & IR RS E T AT 5 5 1A 5
SEER:
LIS F
11. C - they have known each other
12. A - price
13. f5h 7
14. f54h7e

ESuuE

15-16.C D
17-18B D
19-20.A C
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WAEMEA: Tutor a2 A2 A AEIX AN NIEAT V118, TR i, Hrh s
eye-contact, |1 —LL rhetorical question. REFENS A, eR M E LU, [FK 42
e R G TR [R) SCUR] A RBURREE s 20 0 RV R HE B A 7 e VR IO

BB R

B

21. C - needs more research for data

22. A - success to be expanded more

23. B - expand

24. A - it changed a new image

25. C - the allocation of marks

26. A - not enough interaction with the audience

ESrdab
27-28.B D
29-30.B E
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WABER: PHEEAAARMN R T ZOEN AT, RIFRENREN, Attaffe R, fHa
I IaCH R, A BUEWSE, AR RE, DT OREFEE ) B, XEREIE T, EE

R, WrEfE i, A H B R
SHEE R

31. Temperature
32. Movement
33. Roots

34. Bones

35. Space

36. Feathers

37. Pollution

38. Sharks

39. Eggs

40. Diversity
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AR B SRR VR A DI S, 26— Bk 17 e o A5 e M2
B, B BRIENAEY 28 S TR RABHT KM AR EE AR, = TIBUH LA ZARK
DS, Hhala e, Raliikss. BIAERAK.

SHER:

HWTE -

1. TRUE

2. NOT GIVEN

3. NOT GIVEN

4. FALSE

5. TRUE

6. FALSE

7. FALSE

HA

8. Box

9. Delicate
10. Glue
1. Fetha
12. Feth s
13.120

Two F}£iKTidal Power 6+ikFE 3

WAMGR: ASCUFREW R TAER B, 5XEERMELE, AMTRIZSEE, X ARAKMIT .
R BRI 7K 2275 ¢ habitat. B4 45

SHEER:

HWT

14. TRUE

15. FALSE

16. NOT GIVEN

17. FALSE

S
18. Habitat

19. Waste

20. Night tide

21. Turbines

22. Fish

23. Sensitive habitats

=

e
24 A
25.A
26.D
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MR - VR — L& 5 S TR 51 Al A, ARG RRIR T A4 Mk AE ik R4S
WL AL FERFEXRE I I 2R R . AR K

SR,

27. f5#h7e

28. A

29 - 30. fF4h7

31.D

32. FERhTE

ESrdab
33-34.A B

A
35. Opportunities
36 - 40. fh7e

Sie#sa

One 41 The graph below shows the change in production(Million Tonnes) of three
2% products in the forest industry in a European country from 1980 to 2000.
K| Summarize the information by selecting and reporting the main features,
and make comparisons where relevant.
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responsibility to spend

W 42> money on res Ip people in poorer

25 Z% countries. Oth i ility of drug companies is to
make money. Discus s and give your own opinion.
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